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2016 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8 x2=16

(1) Simplify T +2 3 by expressing in the form a + bi

(i) Write {x| xe Nad<x <12 } in descriptive and tabular form.
(i)  Factorize a” + 4b°

(tv)  Define Group.

(v)  Wrte Reflexive Property of Equality of Real Numbers.

(vi)  Construct the truth table of p A ¢ of two statements p and gq.
(vii)  Discuss the nature of the roots of equation x* + 2x +3 =0

(vii1)  Find two consecutive numbers whose product is 132.

(1x)  Write any two properties of determinants of square matrices.

: . . S 2 2 1
(x) Find the matrix X if X =
-2 1 5 10

(x1)  Find the value of k if the polynomial x* + kx’ — 7x + 6 has a remainder of — 4 when
dividedby (x+2).

(x11)  If the matrices 4 and B are symmetric and 4B = BA. show that 4B is symmetric,

3. Attempt any eight parts. 8x2=16
(1) Resolve into partial fractions T
x e
(i) Write the 1™ three terms of the sequence if an = 5 - :
n+

(iii)  Find A.M between 3v/5 and 5v5 .

(iv)  Findthe 12" term of G.Pif 1+, 2i, =2 + 2, ————

(V) Find the 9™ term of the H.P l:l?_l_w_____
3 5 7
(vi)  Write in factorial form (n+ ])3(’; )[(H -1)

(vit)  Find the value of n when "C, = o
(vii) Showthat "P. =n.""'P

(ix)  Expand up to three terms (1 + 2x)™"'
(x)  Using Binomial theorem find the value up to three place of decimals of /99

(xi)  Expand and simplify (2 Al ]5 - (2 - ﬁ))
(x1)  Define Mutually Exclusive Events.

P.T.O.



(2)
4. Attempt any nine parts. 9x2=18

(1) Find r, when £=5cm, 0= -%radian,

(i) Provethat Sin’Z + Sin®Z + tan® = =2
6 3 4
_ 2
(iii) Prove Cos’8 — Sin’@ = 1 tanj <
1+ tan" 6@
(iv) If @, B, » are the angles of a triangle ABC , then prove that Cos(« + ) =~Cosy
1

(v)  Provethat Cos(a +45°)=—=(Cosx — Sin)

V2

(vi)  Express Sin56Cos20 as sum or difference.
(vil)  Find the period of Coi8x .
(viii) Solve the right triangle, in which y =90°, a =37°20", a= 243

b
(ix)  With usual notations, prove that R = -‘if

(x) Show that r», = S.tan <

12 D
(xi)  Without using calculator, show that Cos™ = = Sin ‘E
(xii) Find the solutions of Sinx =—-~= in [0, 27 ]
(xiii) Find the solutions of tan’ @ = : In [U._. 7 ]

~
J

SECTION-II

NOTE: - Attempt any three questions. 3 x 10=30
5.(a)  Solve the following systems of linear equations by Cramer’s rule:- 5
2%+ 2y +2=3, 3x-2y-2z=1, Sx+y-3z=2
(b) Show that the roots of the following equation:- 5
(x—a) (x=b) + (x=b) (x—¢) +(x—-c) (x—a) =0 arereal.
- 4x° : * . 5
6.(a) Resolve —; ~ into Partial Fractions.
(x> =1)(x+1)
(b) Find four terms of A.P whose sum is 32 and sum of whose squares is 276. 5
7.(a) In how many ways can be letters of the word MISSISSIPPI be arranged
when all the letters are to be used? 3
(b) If x is very nearly equal to 1, then prove that px? —gx" =(p — ¢ yxPra 5
8.(a) Prove that Ve 4 v ~ = tan @ + secl 5
tan@d —secd+ 1
(b) Prove that sinl0° sin30” sin50” sin70" = HIIE 5
2 2 & 2
9.(a) Prove that ]ﬂ + 1,_,- + IE + lj B T bl ¢ 5
rcooon ot N A
;3 8 4 77 5

(b) Provethat sin™ =+ sin”™ == sin™ —

85

13-2016(A)-16500 (MULTAN)



Paper Code 2016 (A) Roll No:
Number: 6191 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1)  The modulus of 1 — i+/3 is equal to:- (A)—2 (B) 2 (C) -2 (D) 10
(2)  Tabular form of aset { x | xe QO Ax? = 2| is equal to:-
A) (V2,-42]  (®) {4} ©) {} (D) {2,-2}
a b c
(3) Ifd=|d e f |, thendet 4 isequalto:- (A)0 (B)1 (C) (a—-5b)(c—a) (D) a*—ab + ac +b*
a b c

(4)  The cofactor of an element &; ; denoted by A, j 1sequal to:-

(A) ("Ufujij (B) (_l)f+J-Mf+j (C)(_l)j”Mu (D) (I)HjMU

(5) A quadratic equation ax® + bx + ¢ = 0, becomes liner equation if:-

(A)a=0 (B) b=0 (C)e=0 D)a=b

(6) Complex cuberoots of —1 are:-  (A) w,w® (B) L w,w’ (C) =1 -w,-w? D) -w,-w’
2
(7)  Partial fractions of x3 U i is equal to:-
x’ +
(A) A M .,B (B) A 5 2B.v¢:~i~*(:' ©) A 4 2Bx+C D) A " B+C
x+1 x" +1 x+1 x*+x+1 x+1 x° —x+] x+1 x#—-x+1

(8) If a,G,b bethe G.P. where a,b arenumbersthen G.M. isequal to:-

(A) Vab (B) —vab (C) +~ab (D) ab

(9 Reciprocal term of A4.P. 1s:- (A) 4.P. (B) G.P. (C) H.P. (D)None ofthese

(10) If S isasamplespace and £ =S isanevent then P(£)1s equal to:-

(A) [0,1] (B) 0 (€) 1 (D) (0, 2)
(11) If "C, ="C,, which of the following must be true?

(A) r#4q B)r+q =n O r-g=n D) ¢ =0
(12) 14 2x+3x" +4x’ + ———— 0 is the expansion of:-

(A) 1+x)7 (B) (1+x)° (©) (1-x)° @) (=)
(13) Sumofexponentof @ and & in (a+ b )" inevery term is:-

(A) n (B) 2n (C) —; D) 7 +1
(14) The 60th part of | — degree 1s called one:-

(A) Second (B) Minute (C) Degree (D) Radian
(15) 2tam;? is equal to:- (A) tan28  (B) Cor28  (C) Sin26 (D) Cos26

]+ tan” @
(16) Range of tanx is equal to:- (A)Q (B) IR (C) 2 (D) N

(17) If ABC be any triangle and y = 90°, then:-

Ay a* +b>=c? B)a’*+c’=b* Ob+c’=a> Ma’+b>+c=0
(18)  Angle below the horizontal line 1s called:-

(A) Right angle (B) Oblique angle ~ (C) Angle of Elevation (D) Angle of Depression

(19) Cos(tan™+/3) isequal to:- (A)% (B)-% (c):/.z_i (D)_ﬁ

2
(20) If Cosx+1=0, then:-
(A) {%+2mr} (B) {7 + 2n~ } ©) {7 + nr | (D) {_%ﬂm}
13(0bj)(%€)-2016(A)-16500 (MULTAN)



Paper Code 2016 (A) Roil No:
Niiiiilies 6193 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-1 GROUP-I1 TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) If "C, ="C,, which of the following must be true?

(A) r#gq B)r+q=n COr-q=n D) ¢ =0
(2) 14 2x+3x" +4x° + ———— w0 is the expansion of:-
A) (1+x)7 (B) (1+ x)° © (d=x) (D) (1-x)>
(3) Sumofexponentof a and b in (a+ & )" inevery term is:-
(A) (B) 2n © (D) n +1
(4)  The €0th part of 1 —degree is called one:-
(A) Second (B) Minute (C) Degree (D) Radian
(5) 2tan€ 1s equal to:- (A) tan28  (B) Cot280 (C) Sin28 (D) Cos26
1+ tan” @
(6) Range of tanx is equal to:- (A)Q (B) IR (C) # (D) N

(7) If ABC be any triangle and y = 90°, then:-
A)a* +b'=c’ (B)a*+ci=b> (O +cP=da" (D)a’+b+c?=0

(8) Angle below the horizontal line is called:-

(A) Right angle (B) Oblique angle (C) Angle of Elevation (D) Angle of Depression

(9)  Cos(tan™ V3) isequalto- (A) é (B) _é_. (® g D) ~ w_?_

(10) If Cosx+1=0. then:-
(A) {% + Zrm*} (B) {;r + 2mr} (C) {ﬂ' + nr (D) {-—% + znﬁ}

(11) The modulus of 1 — i~/3 is equal to:- (A)—2 (B) 2 (€} -2 (D) 10
(12) Tabular form of a set {xlxe OAx® = 2} is equal to:-
A V2.-v21 @) {4) © {} @) {2.-2}
a b c
(13) It 4A4=|d e [ |, thendet 4 1sequalto:- (A)0O (B)1 (C) (a—=b)(c—a) (D) a’*—ab + ac +b>
la b c |

(14)  The cofactor of an element ¢; ; denoted by A,- j s equal to:-

(A)(_l)i_jM;j (B) (_I)HJ‘M;” (C)(“I)H‘IMU. (D) (l)Hjij

(15) A quadratic equation ax’ + bx + ¢ = 0, becomes liner equation if:-

(A) a=0 B)b=0 C)ec=0 (D)a=5b
(16) Complex cube roots of —1 are:-  (A) w, w* (B) L, w, w* (C) =1, —w, —w? (D) —w, —w*
2
(17)  Partial fractions of xq +; 1S equal to:-
X+
A B A Bx + C A Bx + C !
(A) +— (B) T £ (C) +— o (D) A 2 B+C
x+1 x° +1 x+1 x°+x+] x+1 x* —-x+1 x+1 x*=x+]
(18) If a,G,b bethe G.P. where a,b arenumbersthen G.M. is equal to:-
(A) Vab (B) —ab (C) ++Jab (D) ab

(19) Reciprocal term of 4.P. 1s:- (A) 4.P. (B) G.P. (C) H.P. (D) None of these

(20) It § isasample space and £ =S is an event then P(E)is equal to;-
(A) [0,1] (B) 0 ©) 1 (D) (0,2)
13(Obj)(W€ ¥€)-2016(A)-16500 (MULTAN)



Paper Code 2016 (A) Roll No:
Niiiilést 6195 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-1 GROUP-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

(Q.Ne.1

(1)  Complex cube roots of —1 are:-  (A) w, w® (B) L w,w’ (C) =1, -w, —w? (D) -w, —w?

.
(2) Partial fractions of x1 +: is equal to:-
X~ +
A B A Bx + C A Bx + C A B+C
A ES B -+ C + — D +
()x+1 ¥ +1 ()x+1 x4+ x +1 ()x+l x® = x +1 ()x-i-l £* - i1
(3) If a,G,b bethe G.P. where a,b arenumbersthen G.M. isequal to:-
(A) Vab (B) —vab (C) +Jab (D) ab

(4) Reciprocal term of 4.P. 1s:- (A) A.P. (B) G.P. (C) H.P. (D) None of these

(5) If S isasample space and £ =S is anevent then P( E)is equal to:-

A [0.1] (B) 0 (©) 1 D) (0,2)
(6) If "C, ="C,, which of the following must be true?
(A) r#gq B)r+qg =n C)r—q=mn (D) ¢ = 0
(7) 1+ 2x+3x* +4x’ + ———— oo is the expansion of’-
(A) (1+x) (B) (1+x)* (C) (1-x)* D) (1-x)~
(8) Sum of exponent of ¢ and » in (g + b )" inevery term is:-
(A) n (B) 2n © (D) 7 +1
(9)  The 60th part of 1 — degree is called one:-
(A) Second (B) Minute (C) Degree (D) Radian
(10) Zth is equal to:- (A) tan28  (B) Cot26  (C) Sin26 (D) Cos26
] + tan” &
(11)  Range of tanx is equal to:- (A)Q (B)IR (CO)Z (D) N

(12) If ABC be any triangle and y = 90°, then:-
(A)a> +b*=¢* B)a'+c*=b* ©Ob+c*=a> D)a*>+b*+c*=0

(13)  Angle below the horizontal line 1s called:-

(A) Right angle (B) Oblique angle (C) Angle of Elevation (D) Angle of Depression

(14) Cﬂ.s'(tan" \5 ) i1sequalto:- (A) % (B) _% (©) 3/; (D) — g_

(15) If Cosx +1=0, then:-
W +me| @ {z+22)  (©fz+nz}  ©) {74+ 20

(16) The modulus of 1 —i+/3 is equal to:- (A)-2 (B) 2 ©) -2 | ()«10
(17) Tabular form of a set {I]IEQA x* = 2} 1s equal to:-
A V2.-V2] B {4] © {} D) {2, -2}
a b c
(18) IfA=|d e [ |, thendet 4 isequalto:- (A)0 (B)1 (C)(a—->b)(c-a) (D) a*—ab+ ac +b*
a b c

(19)  The cofactor of an element ¢; ; denoted by A; j isequal to:-

@ D'TM @ ()M, © DM, o) (1) M,
(20) A quadratic equation ax’ + bx + ¢ = 0, becomes liner equation if:-
(A)a=0 (B)yb=0 C)e=0 (D)a=5b

13(Obj)(¢ ¥€ X)-2016(A)-16500 (MULTAN)



Paper Code 2016 (A) Roll No:
Nifiiibieis 6197 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-I TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.l

(1) Range of tanx is equal to:- (A)Q (B) IR (C) £ (D) N

(2) If ABC be any triangle and y = 90°, then:-
(A)a’ +b*=c" @B)a’+c*=b" (O)b'+c*=a" D)a’ +b°+c*=0
(3) Angle below the horizontal line is called:-
(A) Right angle (B) Oblique angle  (C) Angle of Elevation (D) Angle of Depression

(4) *C'fii'i‘-'(tfﬂl‘I 1.E]' is equal to:- (A) % (B) _% (C) _’v;_"‘ (D) _%
(5) If Cosx+1=0, then:-

(A) {% - Zmr} (B) {:«*r + .?.fm} (C) {,?r - nfr} (D) {—% + 2n:r'r}

(6)  The modulus of 1 - iv/3 is equal to:- (A)—-2 (B) 2 (C) -2 (D) V10
(7)  Tabular form of a set { x|xeQnax’=2 } is equal to:-
A) (V2.-2§  (®) {4} ©{} ) {2, -2}
a b c
8) IfA=|d e f |, thendet 4 isequalto:- (A)0 (B)1 (C)(a—-b)(c—a) (D) a*-ab + ac +b*
a b c

(9)  The cofactor of an element ¢; ; denoted by AJ- j isequal to:-

(A)(_l)j"jM:‘j (B) (_I)HIM;U (C}('l.)HjMU (D) (])Hjij

(10) A quadratic equation ax® + bx + ¢ = 0, becomes liner equation if:-

(A) a=0 B)b=0 (C)c=0 (D) a=b
(11) Complex cube roots of —1 are:-  (A) w,w’ (B) L, w.w® (C) =1, —w, —w? (D) -w, —w’
2
(12) Partial fractions of Iq L : 1s equal to:-
x" +
A Bx + C A B i :
Wt eBp Pt gy AL SETE, g A
x+1 x" +1 x+1 x°+x+1 x+1 x° —x+1 x+1 x°-=x4+1
(13) If a,G,b bethe G.P. where a.b arenumbersthen G.M. isequal to:-
(A) Yab (B) —+/ab (C) ++/ab (D) ab

(14) Reciprocal term of 4.P. 1s:- (A) A.P. (B) G.P. (C) H.P. (D) None of these

(15) If § isasample space and £ =S is an event then P( E)is equal to:-

(&) [0.1] (B) 0 (C) 1 (D) (0,2)
(16) If "C, = "C,, which of the following must be true?

(A) r#g (B)r+q =n (C)r—g=n (D) g =0
(17) 1+ 2x+3x* +4x’ + ———— o is the expansion of:-

(A) (1+x)~ (B) (1+x)’ C©)(d-x) @)yl - %)~
(18) Sum ofexponentof @ and & n (a+ b )" inevery term is:-

(A) n (B) 2n © 3 (D) n +1
(19)  The 60th part of 1 — degree is called one:-

(A) Second (B) Minute (C) Degree (D) Radian
@0 - ""‘tf“fﬁ isequalto:-  (A) tan20  (B) Cot20  (C) Sin20 (D) Cos20

+ tan

13(0b})(P€ 2 2C 2X)-2016(A)-16500 (MULTAN)



2016 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
SECTION-I
2. Attempt any eight parts. 8x2=16
(1) Name the property used in a (b —c¢ ) = ab - ac

§

(1)  Separate e into real and imaginary parts.
+
i
s 1 3
111 Simplify | —— + —i
(i11) plity [ s }

(1v)  Write {x 1 xe N Ax<10 }in the descriptive and tabular forms.
(V) Show that (p A ¢) — p isa tautology.
(vi)  Define a Group.

4 A 3
(vu) Find the valueof A if 4=|7 3 6 |issingular.
2 3 1

bc ca ab
: : ; 1
(viin)  Without expansion verify that : 5 e 0
a c
a b ¢

(ix) If A4 issymmetric, show that A4 is symmetric.

(x)  Provethat (x° + y*)=(x+ ) (x+ wy) (x + w'y)

(xi) If @, B aretherootsof x* — px — p—c=0, provethat (1+a)(1+ B)=1-c¢
(xii) Show that the rootsof (p + ¢ ) x* = px — g = 0 are rational.

3. Attempt any eight parts, 8x2=16

(1) Resolve ( 7;;(25 5 into Partial Fractions.
x+3)(x+

(i)  Find the next two terms of 7, 9, 12, 16, ------

(u) If —1~ L and L are in A.P. show that & =
a b ¢ a+c

. . i . . 1 1 1
(1v)  Find the sum of infinite geometric series 5 =t = F—————

4 8
(V) If 5 isHM. between2and b, find 4.

8!
41 2!
(vil) How many 3 — digit numbers can be formed by using each one of the digits 2, 3, 5, 7, 9 only once?

(vi)  Evaluate

(viii) Find the value of n, when "C, = "C,

(ix)  Adieisrolled. What is the probability that the dots on the top are greater than 47

(x) Prove 1+5+9+ ————— +(4n-3)=n2n-1), for n=1,2
3 10

(xi)  Find the 6™ term in the expansion of ( x* - B ]
o

(xi1) If x is so small that its square and higher powers can be neglected, then show that
1l —x 3

~] — —
J1+ x ZI

P.T.O.



(2)
4. Attempt any nine parts, 9x2=18

(i)  Verify Cos20 =1 - 28in*6@ when 6 =30°, 45°

(i)  Verify sinzg + sinzg 4 tanz{':-= 2

2tan @

2

= 2sinfcosél
1+ tan“ @

(1i1)  Prove that

(iv) If a, B.y are the angles of a triangle ABC, then prove that tan(a + 8) + tany =0

(v)  Provethat Cos(a + 45°) = —1-—(CGS{Z - Sinc)

V2
1 —tan’ @
1+ tan’ @
(vit)  Find the period of Cot8x

(vi)  Prove that Cos26 =

(viii) Define in-circle.

(x) Provethat r, = tan%

(x)  Find r, if measures of the sides of triangle ABC are a =13, b=14, ¢ =15

(xi) Showthat Cos™' (=x) =7 — Cos™'x

(xi1)  Find the solution of Cot8 = —Jl,g— in [U, 27 ]

(xiii) Solve tan’ @ =%- in [0, 27 ]

SECTION-II
NOTE: - Attempt any three questions. 3 x10=230
b+c a a°
5.(a) Showthat [c+a b b’'|=(a+b+c)(a-b)(b-c)(c—-a) 5
a+b ¢ c*
x*  (mx+c)? 22
(b) Prove that — + . =1 will have equal roots if ¢* = a’m? +b%, a#0, b= 0 5
. 2
6.(a) Resolve 21 - into partial fractions. S
(x+1)" (x° =1)
(b) For what value of n, f, s z"" is the positive geometric mean between a and b ¥ 5
a" "+
7.(a) Provethat "~'C, + ""'C,_, = "C, 5
(by If 2y=-l-+1'3 l +1'3'S. ! + ———— then prove that 4y* + 4y —1=0 5

2F a2y 31 28

8.(a) Prove the identity tang 10000 =1 o Tan 84 Sec & 5
Tan® — Sec@ + 1

(b) Prove that Cos20° Cos40° Cos60° Cos80° =Tlg 5

9.@) Thesides of a triangle are x* + x + 1, 2x +1 and x* — 1.

Prove that the greatest angle of the triangle is 120° 5
(b) Prove that tan™ 2 + tan ™ - tan” L) =R 5
4 5 19 4

15-2016(A)-13500 (MULTAN)



Paper Code 2016 (A) Roll No:
N 6192 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKJ: 20

Note: You have four choices for each objective type question as A, B, C and D, The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
).No.1

(1) Modulus of 5 - 3i is:- (A) 4 (B) 16 (C) 34 (D) 34
(2)  Drawing conclusions from premises believed to be true is called:-

(A) Induction (B) Deduction (C) Proposition (D) Contradiction
(3) M, of B _;] is:- (A) 1 (B) 2 (C) 3 (D) -3

(4)  Every Diagonal matrix is also:-
(A) Triangular Matrix (B) Scalar Matrix  (C) Rectangular Matrix (D) Symmetric Matrix

() x+g=4 1S:-
X

(A) Reciprocal Equation (B) Transcendental Equation (C) Quadratic Equation (D) Identity

(6)  Iftheroots of ax’ + b =0 are real and unequal then:-
(A) ab >0 (B) ab <0 (C) ab =0 (D) ab = 0

(7) Any improper rational fraction can be reduced to a mixed form by:-
(A) Addition (B) Multiplication  (C) Factorization (D) Division

(8) With usual notations, the product of » Geometric Means betweena and b is:-

[ S e |

el (B) nG ©) (A) (D) (G)
(9) 12+2!+32+ _____ + nt =
(A)H(H+l) (B)”?(H'I‘I)(H-I-ZJ {C}”(H+1)(2”+l) (D)n(ﬂﬁ'l)*

2 6 6 4
(10) 1If 4 and B are independent events then probability P ( A[1B) =

(A) P(A)N P(B) (B)YP(A). P(B) (C) P(A)+ P(B) (D) P(A)+ P(B)-P(ANB)

(1) (n-1H)(n-2)(n=-3)==——= (n=r+1)-=
(n-1) n! (n-1)! n!
A B
(J(”—?‘).’ {)(H—F)T (C){H-r+2)! (D)(n-—r+I)!
(12)  There is no integer » for which 3" is:- (A)Odd  (B)Even  (C)Prime (D) Complex
]
(13)  Expansion of (1 - 2x)? is valid if:-
A) | x|<1 ®) | x|<; © | x|<2 ®) | x| <

(14)  Anangle is said to be in standard position if its vertex is at:-
(A) (0,0) (B) (L 1) (C) (0,1) (D) (1,0)

(15)  2Co0s568in30 =
(A) Sind0 — Sin@ (B) Sind0 + Sin6  (C) Sin80 — Sin20 (D) Cos86 + Cos26

(16)  Rangeof y=Cosx is:= (A)R (B)-1<x<l1 (O)y=2lor y<-1 (D)-1<y<lI

(I7)  With usual notations area of triangle ABC is:-

b « acSin p i
ﬁ .l- — A p— b l.T__., B 2 - D LS
(A) J(s-a) (s=b)(s—c) ¢ Vg ST (D) ab Sin y
; ‘ : (s =c¢) (s =b) o Vs ¥ 194
(I18)  With usual notations \/ & (A) Tan—  (B) Tan— (C) Tan= (D) Cot —
s(s—a) 2 2 2 2

19 sin(~} )= ™% B Y% ©Y D-7

(20)  Solutions of the equation 1+ Cos@ =0 are in quadrants:-
(A)land IV (B) Il and III (C)and IV (D) None of these

15(Obj)(T€)-2016(A)-13500 (MULTAN)



Paper Code 2016 (A) Roll No:
Number: 6194 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I GROUP-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Range of y =Cosx 1s:- (A) R (B) -1<x<1 (Cyy2lor y<-1 (D)-125y<1

(2)  With usual notations area of triangle ABC 1s:-

b ac Sin 3 .
A — s=b)(s - B L (D) abS
(A) (s-a) (s=b)(s-c) B)goz (©=; ) abSin y
@) Withusualnotations [ =2 =% )y 1u® @) Tt Tl ©)Carl
| s(s—a) 2 2 2 2
@ sn'(-4)= @Y ey OY% O-7%
(5) Solutions of the equation 1 + Cos# =0 are in quadrants:-
(A)land IV (B) Il and Il (C) 1l and 1V (D) None of these
(6)  Modulus of 5—3i is:- (A) 4 (B) 16 (C) 34 (D) /34
(7)  Drawing conclusions from premises believed to be true is called:-
(A) Induction (B) Deduction (C) Proposition (D) Contradiction
1 3
(8) M, of [2 3} 1S:- (A) 1 (B) 2 (C) 3 (D) -3

(9)  Every Diagonal matrix is also:-
(A) Triangular Matrix (B) Scalar Matrix  (C) Rectangular Matrix (D) Symmetric Matrix

(10) x+§~=4 18:-

A
(A) Reciprocal Equation (B) Transcendental Equation (C) Quadratic Equation (D) Identity

(11) Ifthe roots of ax*® + b = 0 are real and unequal then:-

(A) ab >0 (B) ab < (C)ab=0 (D) ab=20
(12)  Any improper rational fraction can be reduced to a mixed form by:-
(A) Addition (B) Multiplication  (C) Factorization (D) Division
(13)  With usual notations, the product of » Geometric Means betweena and b is:-
(A) (G)" (B) nG (C) (4)" (D) (G)?
(14) 1P +2° +3° 4+ ————— +n’ =
nin+l nin+l)(n+2 n{n+1)(2n+1 n: (n+1)°
wrnth)  gn(ar)(ne2) o oa(neD)(2nxl) g0t (nt])

2 6 6 4
(15) If 4 and B are independent events then probability P ( A(1B) =

(A) P(A)NP(B) (B)P(4). P(B) (C)P(A)+P(B) (D) P(4)+P(B)-P(ANB)

(1) (n-1)(n-2)(n-=-3)————- (n—-r+1)=
(n-1)! n! (n-1)! n!
B & D =,
(A) (n—r)! ()(n—r)! ()(n-*r+2)! ( )(n—r-tvl)!
(17)  There is no integer » for which 3" is:- (A) Odd (B)Even  (C)Prime (D) Complex
(18)  Expansion of (1—2x)? is valid if:-
v
(A) | x| <1 ®) |x|< ©]x]<2 {D)‘x]{:%

(19)  An angle is said to be in standard position if its vertex is at:-
(A) (0,0) B) (L1) (€) (0,1) (D) (1.0)
(20) 2Cos38S8in30 =
(A) Sind@ — Sin@ (B) Sindé + Sin@  (C) Sin86 — Sin20 (D) Cos86 + Cos?28
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Q.No.1

(1) (n=1)(n-2) (R=3) ——a-_ (h=r+1)=
(n-1)! n! (n-=1)! n!
(#) (n—r)! B) (n—r) ©) (n—r+2)! ®) (n—r+1)!
(2) There is no integer n for which 3" is:- (A) Odd (B)Even  (C) Prime (D) Complex
(3) Expansion of (] - 2x )? is valid 1f:-
(A) | x|<1 (B)].r]{:—;— ©) | x|<2 (D)fx[-:%

(4)  Anangle is said to be in standard position if its vertex is at:-
(A) (0,0) (B) (1,1) (©) (0, 1) (D) (1, 0)

(9) 2Cos50 Sin30 =
() Sind6 - Sin6  (B) Sin40 + sino (C) Sin86 - Sin260 (D) Cos80 + Cos20

(6) Range of y = Cosx is:- (A) R (B) -1<x<] C)y21or py<-g D) -1<y<i
(7) With usual notations area of triangle ABC is:-
b ac Sin
W) JGs-a) -0 (5-0) (@) £

28inp ©) 2

N A Y. (©) TanL (D) cor®
s(s~a) 2 . 2

2
O s Y wmg @y-ny ©Y  © -

(10)  Solutions of the equation 1+ Cos@ =0 are in quadrants:-

(D) abSin y

(8) With usual notations ‘/ &

(A)ILand IV (B) I and 111 (C) Il and IV (D) None of these
(11)  Modulus of 5 - 3/ is-. (A) 4 (B) 16 (C) 34 (D) /34
(12)  Drawing conclusions from premises believed to be true is called:-

(A) Induction (B) Deduction (C) Proposition (D) Contradiction
(13) M, of [; _j] is:- (A) 1 (B) 2 (€) 3 (D)-3

(14)  Every Diagonal matrix is also:-
(A) Triangular Matrix (B) Scalar Matrix (C) Rectangular Matrix (D) Symmetric Matrix

(15 &+2=od js
X

(A) Reciprocal Equation (B) Transcendental Equation (C) Quadratic Equation (D) Identity

(16)  Ifthe roots of ax? + p = U are real and unequal then:-

(A) ab >0 (B) ab <0 (C)ab=0 (D) ab >0
(17)  Any improper rational fraction can be reduced to a mixed form by:-
(A) Addition (B) Multiplication (C) Factorization (D) Division
(18)  With usual notations, the product of » Geometric Means betweena and b is:-
(A) (G)” (B) nG (C) (4) (D) (G)?
(19 1 +22 432 4_____ +nt =
9 2 2
(A)H(E;-i-l) (B)H{H+I;(n+—J (©) r1(n+1)6(2n+l) (D)n (fl+l)

(200 If 4 and B are independent events then probability P ( ANB )=
(&) P(A)N P(B) (B)P(4). P(B) (C) P(A4)+ P(B) (D) P(A)+P(B)-P(4N B)
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
(Q.No.1

(1) Iftheroots of ax” + b = 0 are real and unequal then:-

(A) ab >0 (B) ab <0 (C)ab=0 (D) ab =0
(2)  Any improper rational fraction can be reduced to a mixed form by:-
(A) Addition (B) Multiplication  (C) Factorization (D) Division
(3)  With usual notations, the product of » Geometric Means betweena and b is:-
(A) (G’ (B) nG (C) (4)" (D) (G)?
4 1"4+2%+3 $=-——-a +n’ =
n(n+1) n(n+l)(n+2) n(n+1)(2n+1) n’ (n+1)

(A) > (B) 6 (©) c (D) 2

(3) If 4 and B are independent events then probability P ( ANB) =
(A) P(A)(NP(B) (B)P(4). P(B) (C)P(A)+P(B) (D) P(A)+P(B)-P(AN B)

6) (m=-1)(n-2)(n-3)—=—=- (n—r+1)=
(n-1)! n! (n-1)! n!
(4) (n-r)! B) (n—-r)! (©) (n—=r+2) ®) (n—r+1)!
(7) There 1s no integer » for which 3" is:- (A) Odd (B)Even  (C) Prime (D) Complex

(8)  Expansionof (1-2x)° isvalid if:-
1 1
A) | x|<1 (B)\x\«:g ©€)]|x]|<2 (D)|xf-::§
(9)  Anangle is said to be in standard position if its vertex is at:-

(A) (0,0) (B) (1,1) (€) (0, 1) (D) (1, 0)
(10)  2Cos560Sin30 =

(A) Sind@ — Sin€ (B) Sin40 + Sin€@  (C) Sin80 — Sin26 (D) Cos868 + Cos 26
(11) Rangeof y=Cosx is:- (A) R (B) -1=x<1 C)yzlor y<-1 (D)-1<y<]1
(12)  With usual notations area of triangle ABC is:-

(A) J(S—a) (s—=b)(s—-¢) (B) b ® ac Sin

2Sinf 2

s-0) (5= _ a i y a
P = (A) Tan 5 (B) Tan ) (C) Tan , (D) Cot >

a4 s (=14 )= W% ®Y O ©O-7

(I5)  Solutions of the equation 1+ Cos@ =0 are in quadrants:-

(D) abSin y

(13)  With usual notations \/ (

(A)land IV (B) II and III (C) Il and IV (D) None of these
(16) Modulus of 5 — 3i is:- (A) 4 (B) 16 (C) 34 (D) /34
(17)  Drawing conclusions from premises believed to be true is called:-

(A) Induction (B) Deduction (C) Proposition (D) Contradiction
(18) M, of {; _i] iS:- (A) 1 (B) 2 C) 3 (D) -3

(19)  Every Diagonal matrix is also:-

(A) Triangular Matrix (B) Scalar Matrix  (C) Rectangular Matrix (D) Symmetric Matrix

(20) x+§=4 1S:-

X
(A) Reciprocal Equation (B) Transcendental Equation (C) Quadratic Equation (D) Identity
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